Final Examinations
from previous terms

10.

11.

12.

. Simplify 1
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_ 20

. Solve 3(xz +2) — 10 = 4z — 2(x — 3).

thenumber Find the number

angleis 30° morethantheangle.

. If twelve is addedto twice a numbertheresultis threelessthanfive times

. Find the measureof ananglesuchthatthreetimesthe complemenof the

. Approximatetheradiusof a circle with circumferencé5.55 cm.
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13. Find anequationof theline throughthe points(1, 2) and(—0, —3).

14. (a) Find anequationof theline through(—2, 3) which is parallelto the

T-axis.

to the z-axis.

a3 —2x 44

quadrant.

15. Determinewhetherthelines
l1:x—2y=28 lo
areparallel,perpendiculaor neitherparallelnor perpendicular

(b) Find anequationof theline through(—2, 3) which is perpendicular

20 —y=3

- 2y =

. Which is the bestbuy? 20 pencilsfor $2.00, 50 pencilsfor $4.50 or 90 16. Solwethelinearsystem: 3z In which quad-
) 4 + By = -20
pencilsfor $8.25. ) .
rantis the solution?
. Simplify _ _
_3 17. Solwethelinearsystem: { o y = 17
(5z—3)%(2y)~" 4p? Sz + 6y=27
@ ———— (b) 2h—2 P
7y a 18. Simplify
© (3y> =2y +7)(5y —4) (d (2a-7)° (@) /192 — 5y/12 (b) 354
(e) (5 x? — 2z + 4) — (5x + 4) (0] (w — —) (JZ + ) (©) /756 (d) (V10— 2\/6)2
. Performthelong division: @t + 32 — sz— 20412 19. Rationalizeeachdenominatoandsimplify
xr
@ —F— (b)
. Factor (a)3z®y? — 6z3y* + 1222y \/18 3+ \/7
2 2
(b) a® —2a—-15 (©) 62”4 7w =5 20. A 30 metreropeis attachedo the top of a 10 metrepole andfixedto a
(d) 4zy — 6z 4 2ay — 3a (e) m* —16 pointontheground forming aright triangle.How faris this pointfrom the
baseof thepole?
Sole (a)4z3 —8z2 + 4z =0
(b) 6t2 =19t —7=0 (c) Tm = 3(2 —m?2) 21. Sohe
Simplify @ (Bz—2)2=49 (b) 22 =4z +10 (c) 2> +4 =3z
2 4 22 + 4 . 2% 4 6as 22. A right trianglehasa 30° angleandan hypotenusef length8,/3. Find
@) z2 + 3% "2 r 5{6 —10 72 22 — 922 — 15 thelengthof its shortesside.
T+
(b) P2rr_92 1—u + P 23. Arighttrianglehaslegsof lengthsb and8. Findits smallestangle.
Solve 24. NABC has/ZA = 56.2°, ZC = 78.3° andsideb = 12.5. Find sidea.
@ 1 25. AABC hassidea = 117, sideb = 208 andZC = 41.0°. Find sidec.
ac -2 2ac +5
) = + 2 E 26. A triangleis formedwith threesteelrodsof lengths1.2 metres,1.5 metres
z z+1 3z and2.1 metres.Find theanglecontainedby the shorteseaindlongestrods.
ANSWERS
0 9. (8)322y(x3y—2zy3+4), (b) (a—5)(a+3), 17. (3,2)
10 (c) (2z — 1)(3z + 5), (d) (2= + a)(2y — 3), 18. (a) —2+/3, (b) 33,/2,
5 (€) (m — 2)(m + 2)(m? + 4). (c) 154/2, (d) 34 — 8,/15.
60° 10. ()0, 1,(b) —3, %.(c) 3, —3. 19. (@)+/2, (b)3 — /7.
. 9.00cm 11. (a) z—5 20. 28.3m )
. 50 pencilsfor $4 50. z+5 21. (a)3, —3, (b)2++/14, (c) No(real)solution.
12. , (b) 5.
@2 o @3, ()5 22, 4/3 ~ 6.93
2% 64b18 13 y=52-3 23. 32.01°
(c) 1593 — 22y2 + 43y — 28, 14. (@)y = 3, (b)x = —2. 24 14.6
(d)4a? — 28a + 49, (e)5z? — Tz, 15. Thelines areneitherparallelnor perpendicu- 25, 143
(M a2+ ez — 2. lar. 0. 44d0
16. (33, —+%); the solutionis in the fourth s



